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NEW QUESTION 1
How can Business Automation Workflow container logs be enabled for troubleshooting? Available Choices (select all choices that are correct)

A. Using the command oc logs WORKFLOW _pod_name enable
B. In the custom resource configuration
C. In the 100Custom.xmlfileUsing WebSphere Integrated Solution Console under logs and tracing setting

Answer: A

NEW QUESTION 2
Traditionally, case solutions were created in Case Builder and can still be used. Which additional interface can be used to create case solutions?

A. Business Automation Navigator
B. Business Automation Studio

C. Process Center

D. Workflow Center

Answer: D

NEW QUESTION 3
In a service flow diagram, what activity from the sub-palette allows rules to be built? Available Choices (select all choices that are correct)

A. Decision

B. Rules

C. Server Script
D. Gateway

Answer: B

NEW QUESTION 4

Which task must be completed by an automated system or service and is automatically run without a need for user initiation regardless of the type of lane in which
they are defined in a process diagram?

Available Choices (select all choices that are correct)

A. Automation Task
B. Decision Task
C. line User Task
D. System Task

Answer: D

NEW QUESTION 5
In OpenShift Container Platform, what is the smallest compute unit that can be defined, deployed, and managed?

A. Image

B. Project

C. Pod

D. ReplicaSet

Answer: C

NEW QUESTION 6

What should be done from the BAW Case Client if a user cannot reassign work items? Available Choices (select all choices that are correct)
A. Go to the All Assigned Work in-basket and select the '‘Role members can reassign work to others option”.
B. Go to Roles tab and select the 'Role members can reassign work to others' option.

C. Go to Manage Roles and add the user to a role that has permission to reassign work.

D. Go to the All Assigned Work in-basket and check the option Reassign work.

Answer: C

NEW QUESTION 7

What is one of the expected outputs of Business Automation Insights event processing?

A. Kafka Topic

B. Summaries

C. Raw events

D. Dedicated Flink job

Answer: A

NEW QUESTION 8
What is the core embodiment of a Robotic Process Automation scenario?
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A. Automating thought-driven tasks in an enterprise

B. Utilizing Automation-as-a-Service within the Cloud

C. Automating repetitive tasks across multiple interfaces
D. Utilizing automation bots to cognitively craft code

Answer: A

NEW QUESTION 9

What file is needed to create an External Sen/ice (REST Service)? Available Choices (select all choices that are correct)
A. HTML

B. WSDL

C. Open API(JSON/YAML)

D. Jar/Zip

Answer: C

NEW QUESTION 10

Which command is used to delete snapshots from the Workflow Center server? Available Choices (select all choices that are correct)

A. BPMDeleteProcessApplication
B. BPMRemoveProcessApplication
C. BPMRemoveSnapshot

D. BPMPurgeSnapshot

Answer: C

NEW QUESTION 10

What type of modeling artifact is needed in the red box in the process diagram below to ensure that the process can either flow through Task 2, Task 3, or both?

. Task 2
i\Jj = Task 1
Start

- Task 3

A. Event Gateway

B. Parallel Gateway
C. Inclusive Gateway
D. Exclusive Gateway

Answer: C

NEW QUESTION 14
Why should a security proxy hierarchy be created in Case Builder? Available Choices (select all choices that are correct)

A. To reuse case types between business units without sharing case data.

B. To dynamically change security on cases as the cases change stale

C. To ensure that users can dynamically access documents filed in case folders.
D. To avoid having to rely on the Security Configuration to handle case security.

Answer: B

NEW QUESTION 15

How can a server that is already configured for use in other applications or toolkits be reused in a process application?
Available Choices (select all choices that are correct)

A. Clone the server configuration to the process application.

B. Run the 3PMServerimporcConfig command.

C. Server configurations cannot be reused, they must be reconfigured for each process application or toolkit.

D. Import the server configuration in the Servers' section of the Process App_ settings.

Answer: D

NEW QUESTION 20
Which product allows capturing data in images from email or fax with image-processing capabilities?
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A. Business Automation Studio

B. Business Automation Content Analyzer
C. Business Automation Insights

D. Datacap

Answer: A

NEW QUESTION 22
What is one of the main functions of User Management Services (UMS) in Cloud Pak for Automation?

A. Administer global teams for Cloud Pak components
B. Certificate management

C. SAML token generation

D. Provide centralized user registry (LDAP)

Answer: A

NEW QUESTION 27
What configuration is needed to allow access to case information on an external Filenet system for a Business Automation Workflow (BAW) user?

A. Single sign-on between Filenet and BAW must be configured.

B. The user authorization needs only be set on Filenet and is propagated automatically when integrating with BAW.
C. The user authorization needs only be set on BAW and is propagated automatically when integrating with Filenet.
D. If Filenet and BAW depend on different LDAP servers, the user must exist in both of them.

Answer: C

NEW QUESTION 29
What gateway is shown in the image below?

A. Message Gateway
B. Inclusive Gateway
C. Event Gateway
D. Delay Gateway

Answer: B

NEW QUESTION 31

What is the preferred architectural design for building, managing, and deploying a business decision in the Cloud Pak for Automation?
A. Consumable application specific business decisions

B. Rules embedded and deployed in process flow with process-based deployment

C. Separately stored business decisions with decoupled deployment

D. Application embedded business decision logic reliant on application deployment patterns

Answer: D

NEW QUESTION 34
What is the minimum system configuration that is needed for a developer to run playbacks? Available Choices (select all choices that are correct)

Passing Certification Exams Made Easy visit - https://lwww.2PassEasy.com



Welcome to download the Newest 2passeasy C1000-116 dumps
@ 2 Posse’os LJ https://www.2passeasy.com/dumps/C1000-116/ (64 New Questions)

A. One Workflow Server instance as development environment connected to the Workflow Center.

B. Depending on whether the Business Automation Workflow is on premise or on cloud, the developers may need a local Workflow Server instance on their
machine or on the cloud.

C. A Workflow Center with no Workflow Servers created.

D. A local Workflow Server instance on their machine connected to the Workflow Center.

Answer: D

NEW QUESTION 37
In which two scenarios would a developer choose to use JavaScript over the OpenAPI for implementing a REST service? (Choose two.)
Available Choices (select all choices that are correct)

A. Using MIME type application/JSON.

B. The OpenAPI definition file contains a security definition where authentication other than basic authentication or API key authentication is used.
C. The OpenAPI definition file contains a security definition where basic authentication or API key authentication is used.

D. Using a MIME type other than application/JSON.

E. Calling a REST service, for which the OpenAPI specification contains objects that have properties.

Answer: AE

NEW QUESTION 38
What is the minimum role-based access control needed to install IBM Cloud Pak for
Automation?

A. Administrator

B. Operator

C. Installer

D. Cluster Administrator

Answer: A

NEW QUESTION 43
In the Process Inspector, what is the state of a manual activity has no precondition or it has a precondition that is evaluated to true?
Available Choices (select all choices that are correct)

A. WAITING

B. COMPLETED
C. READY

D. WORKING

Answer: C

NEW QUESTION 45
For REST API authorization roles, which role allows users who can work on and reassign tasks assigned to members of the managed team?
Available Choices (select all choices that are correct)

A. Task owner

B. Manager team of task team
C. Instance owners

D. Task collaborator

Answer: B

NEW QUESTION 48

Which client-side human service building block can be used to add a custom CSS to a coach?
Available Choices (select all choices that are correct)

A. Layout OB.

B. Panel

C. Custom CSS

D. Custom HTML

Answer: C

NEW QUESTION 50
What are two uses of the Save service implementation under the Behavior tab in the business object definition shown below? (Choose two.)
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A. Provide a service that can be called by an Undercover Agent when an event accesses the shared business object.

B. Handle any data validation errors for the shared business object only within the "Save service".

C. Validate or manipulate the data that is saved to the shared business object.

D. Apply an alternative merge result in case the shared business object is saved in more than one place.

E. Save a specific version of the shared business object, even when the shared business object is updated at the same time.

Answer: CD
NEW QUESTION 51
A developer has worked with end-users in a requirements session to establish what can be selected on the Single Select control in CoachViewl seen below. To

ensure that the selections are easily maintainable, the developer wants to dynamically lookup the selections at runtime. What two options does the developer have
available to achieve this requirement? (Choose two.)
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A. Pass a business object via the CoachViewl Configuration Options, update the Item lookup mode to Items From Config Options and select the business object
as the Binding of the Single Select view in the General tab.

B. Keep the selections in the Static list, pass a business object via the CoachViewl Configuration Options and select the business object as Output business data
so that the geclcemText n method on the Single Select view returns the selection items via the business object.Pass a business object via the CoachView1
Configuration Options, update the Item lookup mode to Items From Service and select the business object as Service input data for the Default List ltems Service.
C. Pass a business object via the CoachViewl Configuration Options, update the Item lookup mode to Items From Config Options and select the business object
as Item selection data.

D. Update the Item lookup mode to Items From Service and select a service flow that follows the Ajax service specification as the List items service.

Answer: AC

NEW QUESTION 55
How can the Service Call be configured to automatically run when a coach starts? Available Choices (select all choices that are correct)

A. Enable the 'Auto run' configuration option.

B. Enable the 'React to input changes' configuration option.

C. Nothing is required as the Service Call will always automatically run unless it is disabled.
D. Bind the Input value configuration option to a variable.

Answer: B

NEW QUESTION 57
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